[Roll Number

Candidate Name

Test Center Name

Test Date 09/05/2022

Test Time 3:30 PM - 5:00 PM
Subject Level 6

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351073
1151354292
1151354290
1151354291
1151354289
Answered
2




Q.2

Ans 1
2.
3.
4.
Question ID : 1151351064
Option 1 ID : 1151354255
Option 2 ID : 1151354253
Option 3 ID : 1151354254
Option 4 ID : 1151354256
Status : Answered
Chosen Option : 1
Q.3
Ans 1.
2.
" 3.
4.
Question ID : 115135733
Option 1 ID : 1151352931
Option 2 ID : 1151352929
Option 3 ID : 1151352930
Option 4 ID : 1151352932
Status : Not Answered
Chosen Option : --
Q.4
Ans v
2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135743
1151352970
1151352972
1151352969
1151352971
Answered

1




Q.5
Y @ Z’ means ‘Y is the sister of Z.

‘Y @ Z’ means “Y is the husband of 7.
‘Y @ 7’ means “Y is the daughter of 7.
‘Y @ Z’ means Y is the mother of Z".
‘Y ® Z’ means Y is the brother of Z".

In the following expression, select the option that can replace the question marlk (?)
to establish that ‘C is the child of L".

UGLO@G@OM®OTC

Ans
1. Only ‘@’
2. Only ‘@
3. Either *®’ or ‘@~
« 4. Either ‘@’ or *®~
Question ID : 1151351053
Option 1 ID : 1151354211
Option 2 ID : 1151354209
Option 3 ID : 1151354212
Option 4 ID : 1151354210
Status : Answered
Chosen Option : 4
Q.6
Ans 1.
2.
3.
o 4.

Question ID : 1151351315
Option 1 ID : 1151355260
Option 2 ID : 1151355259
Option 3 ID : 1151355258
Option 4 ID : 1151355257
Status : Answered
Chosen Option : 4




Q.7

Ans &1
2.
3.
4.
Question ID : 1151351293
Option 1 ID : 1151355170
Option 2 ID : 1151355169
Option 3 ID : 1151355171
Option 4 ID : 1151355172
Status : Answered
Chosen Option : 1
Q.8
Ans 1.
2.
3.
o 4.
Question ID : 115135736
Option 1 ID : 1151352944
Option 2 ID : 1151352943
Option 3 ID : 1151352942
Option 4 ID : 1151352941
Status : Not Answered
Chosen Option : --
Q.9
Ans W
2.
3.
4.

Question ID :

Option 1 ID

Option 3 ID

Status

115135769

1 1151353074
Option 21D :

1151353073

1 1151353075
Option 4 ID :

1151353076

: Answered
Chosen Option :

1




Ans &1
2.
3.
4.
Question ID : 1151351048
Option 1 ID : 1151354192
Option 2 ID : 1151354191
Option 3 ID : 1151354189
Option 4 ID : 1151354190
Status : Answered
Chosen Option : 1
Q.11
Ans 1.
o 2.
3.
4.
Question ID : 1151351069
Option 1 ID : 1151354273
Option 2 ID : 1151354275
Option 3 ID : 1151354274
Option 4 ID : 1151354276
Status : Answered
Chosen Option : 2
Q.12
Ans o1
2.
3.
4.
Question ID : 1151351318
Option 1 ID : 1151355270
Option 2 ID : 1151355272
Option 3 ID : 1151355269
Option 4 ID : 1151355271
Status : Not Attempted and

Chosen Option :

Marked For Review




Q.13

Ans 1.
2.
3.
o 4.
Question ID : 1151351057
Option 1 ID : 1151354226
Option 2 ID : 1151354225
Option 3 ID : 1151354227
Option 4 ID : 1151354228
Status : Answered
Chosen Option : 4
Q.14
Ans 1. 72
2. 20
3. 25
o« 4. 18
Question ID : 1151351301
Option 1 ID : 1151355202
Option 2 ID : 1151355204
Option 3 ID : 1151355201
Option 4 ID : 1151355203
Status : Answered
Chosen Option : 1
Q.15
Ans 1.
2.
3.
o 4.

Question ID : 115135773
Option 11D : 1151353089
Option 2 ID : 1151353092
Option 3 ID : 1151353091
Option 4 ID : 1151353090
Status : Answered
Chosen Option : 2




Q.16

Ans 1. C
2. K
3. J
o 4.
Question ID : 1151351056
Option 1 ID : 1151354222
Option 2 ID : 1151354221
Option 3 ID : 1151354224
Option 4 ID : 1151354223
Status : Answered
Chosen Option : 4
Q.17
Ans 1.
o 2.
3.
4.
Question ID : 1151351289
Option 1 ID : 1151355153
Option 2 ID : 1151355156
Option 3 ID : 1151355154
Option 4 ID : 1151355155
Status : Answered
Chosen Option : 2
Q.18
Ans 1.
o 2.
3.
4.
Question ID : 115135745

Option 1 ID : 1151352980
Option 2 ID : 1151352978
Option 3 ID : 1151352977

Option 4 ID :
Status :
12

Chosen Option

1151352979
Answered




Q.19

Ans

o 3.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status
Chosen Option

1151351045
: 1151354177
1151354180
: 1151354179
1151354178
: Answered
03

Q.20

Ans

o 4.

97

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351065
1151354258
1151354260
1151354257
1151354259
Answered
4

Q.21

Ans

A sum of 7800 amounts to T10381.80 at x% p.a. in 2 years when the interest is compounded 8-monthly. What will

be the compound interest on the same sum at (x + 5)% p.a. in one year, if the interest is compounded half yearly?

1.

2.

1654

1638

3. X1e60

4.

1560

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151351314
1151355255
1151355256
1151355254
1151355253

Not Attempted and
Marked For Review




Q.22

Ans 1.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

1151351041
1 1151354163
1151354164
1 1151354161
1151354162
: Answered

3

Q.23

Ans 1.

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status :
Chosen Option

1 1151351320
1 1151355278
1 1151355277
Option 31D :

1151355279

1 1151355280

Answered

14

Q.24

Ans 1.

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1 115135752

1151353008

: 1151353007

1151353005

: 1151353006

Not Answered




Q.25

Ans 1.
2.
3.
& 4.
Question ID : 115135742
Option 1 ID : 1151352968
Option 2 ID : 1151352965
Option 3 ID : 1151352966
Option 4 ID : 1151352967
Status : Answered
Chosen Option : 4
Q.26
Ans 1.
2.
" 3.
4.
Question ID : 1151351295
Option 1 ID : 1151355177
Option 2 ID : 1151355178
Option 3 ID : 1151355179
Option 4 ID : 1151355180
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.27
Ans 1.
2.
3.
o 4.

Question ID

Option 2 ID

Option 4 ID

: 115135767
Option 11D :

1151353067

1 1151353068
Option 31D :

1151353065

: 1151353066
Status :
Chosen Option :

Not Answered




Q.28

Ans o 1.

Question ID : 115135763
Option 1 ID : 1151353051
Option 2 ID : 1151353052
Option 3 ID : 1151353050
Option 4 ID : 1151353049
Status : Answered
Chosen Option : 4

Q.29 A dealer sells an article at ¥403.20, after offering a discount of 16% on its marked price. Had he not offered any
discount, he would have earned a profit of 28% on the cost price of the article. What is the cost price (in Z) of the

article?
Ans
1. 350
2.
o 3. 375
4400
Question ID : 1151351291
Option 1 ID : 1151355162
Option 2 ID : 1151355163
Option 3 ID : 1151355164
Option 4 ID : 1151355161
Status : Answered
Chosen Option : 3
Q.30
Ans 1.
o 2.
3.
4.

Question ID : 115135731
Option 1 ID : 1151352921
Option 2 ID : 1151352923
Option 3 ID : 1151352922
Option 4 ID : 1151352924
Status : Not Answered
Chosen Option : --




Q.31

Ans 1.
2.
3.
W 4
Question ID : 115135777
Option 1 ID : 1151353106
Option 2 ID : 1151353108
Option 3 ID : 1151353105
Option 4 ID : 1151353107
Status : Not Answered
Chosen Option : --
Q.32
Ans 1.
2.
3.
o 4.
Question ID : 1151351054
Option 1 ID : 1151354213
Option 2 ID : 1151354214
Option 3 ID : 1151354215
Option 4 ID : 1151354216
Status : Not Answered
Chosen Option : --
Q.33
Ans o1 F
2.
3. E
4. B

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 1151351051
: 1151354202
: 1151354203
: 1151354201
: 1151354204
: Answered

3




Q.34

Ans

3.

Option 1 ID

Option 3 ID

Status

Question ID :

Option 21D :

Option 4 ID :

Chosen Option :

115135740

1 1151352957
1151352960
1 1151352958
1151352959
: Answered
3

Q.35

Ans

1 12
2. 11

3. 13
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351308
1151355231
1151355229
1151355232
1151355230
Answered

1

Q.36

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135754
1151353013
1151353015
1151353016
1151353014
Not Answered




Q.37

If the main diagonal of a cube is 12 cm long, then find the volume of the cube.

Ans 1
2.
" 3.
4.
Question ID : 1151351294
Option 1 ID : 1151355175
Option 2 ID : 1151355176
Option 3 ID : 1151355174
Option 4 ID : 1151355173
Status : Answered
Chosen Option : 3
Q.38
Ans 1.
2.
" 3.
4.
Question ID : 115135772
Option 1 ID : 1151353087
Option 2 ID : 1151353086
Option 3 ID : 1151353088
Option 4 ID : 1151353085
Status : Answered
Chosen Option : 3
Q.39
Ans 1.
o 2.
3.
4.
Question ID : 115135757
Option 1 ID : 1151353027
Option 2 ID : 1151353026
Option 3 ID : 1151353025
Option 4 ID : 1151353028
Status : Answered
Chosen Option : 2




Q.40

Ans 1.
o 2.
3.
4.
Question ID : 1151351043
Option 1 ID : 1151354169
Option 2 ID : 1151354171
Option 3 ID : 1151354170
Option 4 ID : 1151354172
Status : Answered
Chosen Option : 2
Q.41
Ans 1.
o 2.
3.
4.
Question ID : 1151351063
Option 1 ID : 1151354251
Option 2 ID : 1151354250
Option 3 ID : 1151354252
Option 4 ID : 1151354249
Status : Answered
Chosen Option : 2
Q.42
Ans 1.
o 2.
3.
4.
Question ID : 115135761
Option 1 ID : 1151353042
Option 2 ID : 1151353044
Option 3 ID : 1151353043
Option 4 ID : 1151353041
Status : Not Answered

Chosen Option :




Q.43

Ans 1.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

115135774

: 1151353093
1151353095

: 1151353096
1151353094
Not Answered

Q.44

Ans 1.

Question ID :

Option 1 ID

Option 3 ID

Status

115135749

1 1151352996
Option 21D :

1151352993

1 1151352994
Option 4 ID :

1151352995

: Answered
Chosen Option :

2

Q.45

Ans 1.

Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 4 ID :
Status

Chosen Option :

115135746

1 1151352984

1151352982
1151352983
1151352981

: Answered

3




Q.46

Ans

o 1.
2.
3.
4.
Question ID : 1151351300
Option 1 ID : 1151355199
Option 2 ID : 1151355198
Option 3 ID : 1151355197
Option 4 ID : 1151355200
. Not Attempted and
Status * parked For Review
Chosen Option : --
Q.47
Ans 1.4 hrs 15 min
2. 4 hrs 30 min
3.4 hrs 20 min
4.4 hrs 36 min
Question ID : 1151351316
Option 1 ID : 1151355264
Option 2 ID : 1151355262
Option 3 ID : 1151355263
Option 4 ID : 1151355261
Status : Answered
Chosen Option : 2
Q.48
Ans 1.
o 2.
3.
4.
Question ID : 1151351047
Option 1 ID : 1151354187
Option 2 ID : 1151354188
Option 3 ID : 1151354185
Option 4 ID : 1151354186
Status : Answered
Chosen Option : 2




Q.49

Ans

2. C
3 A
4 B

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

1151351055
: 1151354218
1151354217
: 1151354220
1151354219
: Answered
4

Q.50

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351068
1151354269
1151354272
1151354270
1151354271
Answered
4

Q.51

Ans

1.
2.

3.

+ 4. Lahaul-Spiti

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135739
1151352954
1151352953
1151352956
1151352955
Not Answered




Q.52
Simplify the expression. v0.25 + 2v0.0049 — 0.3v0.09

Ans 1.
2. 2.73
3.
o 4.
Question ID : 1151351310
Option 1 ID : 1151355237
Option 2 ID : 1151355239
Option 3 ID : 1151355240
Option 4 ID : 1151355238
Status : Answered
Chosen Option : 4
Q.53
Ans 1.
2.
" 3.
4.
Question ID : 115135779
Option 1 ID : 1151353116
Option 2 ID : 1151353113
Option 3 ID : 1151353115
Option 4 ID : 1151353114
Status : Answered
Chosen Option : 3
Q.54
Ans 1.
2.
3.
W 4.

Question ID : 1151351052
Option 1 ID : 1151354208
Option 2 ID : 1151354206
Option 3 ID : 1151354207
Option 4 ID : 1151354205
Status : Answered
Chosen Option : 4




Q.55

Ans 1.

Question ID :

Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

115135758

: 1151353032
1151353029
1151353030
1151353031

: Not Answered

Q.56

Ans « 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351070
1151354277
1151354279
1151354280
1151354278
Answered

1

Q.57

Ans 1.

4.

71

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151351061
1151354242
1151354241
1151354243
1151354244
Answered

2




Q.58

Ans 1.
o 2.
3.
4.
Question ID : 1151351286
Option 1 ID : 1151355142
Option 2 ID : 1151355143
Option 3 ID : 1151355144
Option 4 ID : 1151355141
Status : Answered
Chosen Option : 2
Q.59
Ans g1
2.
3.
4.
Question ID : 115135764
Option 1 ID : 1151353053
Option 2 ID : 1151353055
Option 3 ID : 1151353056
Option 4 ID : 1151353054
Status : Answered
Chosen Option : 1
Q.60
Ans 1.
o 2.
3.
4.
Question ID : 115135737
Option 1 ID : 1151352947
Option 2 ID : 1151352948
Option 3 ID : 1151352946
Option 4 ID : 1151352945
Status : Not Answered

Chosen Option :




Q.61

Ans 1.
2.
3.
o 4.
Question ID : 1151351062
Option 1 ID : 1151354245
Option 2 ID : 1151354247
Option 3 ID : 1151354246
Option 4 ID : 1151354248
Status : Answered
Chosen Option : 4
Q.62
Ans 1.
« 2. Fe
3.
4.

Question ID : 115135762
Option 1 ID : 1151353048
Option 2 ID : 1151353047
Option 3 ID : 1151353046
Option 4 ID : 1151353045
Status : Answered
Chosen Option : 2

Q.63 From the top of the tower of 30 m height, a man is observing a kid playing on the ground at an angle of
depression of 30 degrees. Find the distance between the foot of the tower and the kid.
(Height of man and kid are to be ignored for calculation)

Ans 1.

30 ol
2. 7=
V3

3.524/3 m
o 4 30\/§m

Question ID : 1151351288
Option 1 ID : 1151355149
Option 2 ID : 1151355152
Option 3 ID : 1151355150
Option 4 ID : 1151355151
Status : Answered
Chosen Option : 4




Q.64

Ans 1§
2. 8
3.5
4. 9
Question ID : 1151351298
Option 1 ID : 1151355189
Option 2 ID : 1151355191
Option 3 ID : 1151355192
Option 4 ID : 1151355190
Status : Answered
Chosen Option : 1
Q.65
Ans v
2.
3.
4.
Question ID : 115135778
Option 1 ID : 1151353110
Option 2 ID : 1151353111
Option 3 ID : 1151353112
Option 4 ID : 1151353109
Status : Marked For Review
Chosen Option : 1
Q.66
Ans o 1.
2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135751
1151353002
1151353003
1151353004
1151353001

Marked For Review
1




Q.67 Avra travels from A to B at 74 km/h and returns from B to A through the same route at 111 km/h.

‘What was his average speed during the two-way journey?

Ans 1.
o 2.
3.
4.
Question ID : 1151351296
Option 1 ID : 1151355184
Option 2 ID : 1151355183
Option 3 ID : 1151355181
Option 4 ID : 1151355182
Status : Answered
Chosen Option : 2
Q.68
Ans 1.
o 2.
3.
4.
Question ID : 115135766
Option 1 ID : 1151353064
Option 2 ID : 1151353062
Option 3 ID : 1151353061
Option 4 ID : 1151353063
Status : Not Answered
Chosen Option : --
Q.69
Ans 1.
o 2.
3.
4.

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 1151351050

1151354200

1 1151354199

1151354198

1 1151354197

Answered
2




Q.70 The radius of a sphere and the base radius of cone both are equal to 3v/2 cm. If the surface area of the
sphere is the same as the total surface area of the right circular cone, then what is the height of the

cone?
Ans 1.
2.
« 3.
4.
Question ID : 1151351292
Option 1 ID : 1151355167
Option 2 ID : 1151355168
Option 3 ID : 1151355165
Option 4 ID : 1151355166
Status : Answered
Chosen Option : 3
Q.71
Ans ’ 1.
2.
3.
4.
Question ID : 1151351042
Option 1 ID : 1151354165
Option 2 ID : 1151354166
Option 3 ID : 1151354168
Option 4 ID : 1151354167
Status : Answered
Chosen Option : 1
Q.72
Ans o« 1. 13
2. 15
3. 11
4. 9

Question ID : 1151351312
Option 1 ID : 1151355247
Option 2 ID : 1151355248
Option 3 ID : 1151355246
Option 4 ID : 1151355245
Status : Answered
Chosen Option : 1




Q.73

Ans 1.
o 2.
3.
4.
Question ID : 115135771
Option 1 ID : 1151353084
Option 2 ID : 1151353082
Option 3 ID : 1151353081
Option 4 ID : 1151353083
Status : Answered
Chosen Option : 3
Q.74
Ans ’ 1.
2.
3.
4.
Question ID : 115135747
Option 1 ID : 1151352986
Option 2 ID : 1151352985
Option 3 ID : 1151352987
Option 4 ID : 1151352988
Status : Not Answered
Chosen Option : --
Q.75
Ans g1,
2. J
3N
4 K

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

1151351071
1151354284

1 1151354281
Option 31D :

1151354283

: 1151354282
Status :
Chosen Option :

Not Answered




Q.76

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135768
1151353070
1151353071
1151353072
1151353069
Not Answered

Q.77

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135748
1151352992
1151352989
1151352990
1151352991
Answered

3

Q.78

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351306
1151355223
1151355222
1151355221
1151355224
Answered

2




Q.79

Ans g1,
2.
3.
4,
Question ID : 1151351287
Option 1 1D : 1151355145
Option 2 ID : 1151355147
Option 3 ID : 1151355146
Option 4 ID : 1151355148
Status : Answered
Chosen Option : 1
Q.80
Ans g1,
2.
3.
4.
Question ID : 115135744
Option 1 1D : 1151352975
Option 2 ID : 1151352973
Option 3 ID : 1151352976
Option 4 ID : 1151352974
Status : Answered
Chosen Option : 1
Q.81 . . 0.16 0.36
Find the value of the expression 81916 x 3036
Ans 1.
2.1
3.
o4 3
Question ID : 1151351311
Option 1 ID : 1151355243
Option 2 ID : 1151355241
Option 3 ID : 1151355244
Option 4 ID : 1151355242
Status : Answered
Chosen Option : 4




Q.82

Ans
1.
2.
3.
o 4.
Question ID : 1151351313
Option 1 ID : 1151355250
Option 2 ID : 1151355249
Option 3 ID : 1151355251
Option 4 ID : 1151355252
Status : Answered
Chosen Option : 4
Q.83
Ans o 1.
2.
3.
4.
Question ID : 1151351305
Option 1 ID : 1151355218
Option 2 ID : 1151355219
Option 3 ID : 1151355220
Option 4 ID : 1151355217
Status : Not Answered
Chosen Option : --
Q.84
Ans &1
2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351060
1151354239
1151354240
1151354238
1151354237
Answered

1




Q.85

Ans
o 1.
5
2. —
9
3.
4.
Question ID : 1151351290
Option 1 ID : 1151355159
Option 2 ID : 1151355157
Option 3 ID : 1151355160
Option 4 ID : 1151355158
Status : Answered
Chosen Option : 1
Q.86
Ans 1.
o 2.
3.
4.
Question ID : 115135755
Option 1 ID : 1151353018
Option 2 ID : 1151353017
Option 3 ID : 1151353019
Option 4 ID : 1151353020
Status : Answered
Chosen Option : 2
Q.87
Ans s 1 X
2. S
.Y
4.
Question ID : 1151351049
Option 1 ID : 1151354196
Option 2 ID : 1151354195
Option 3 ID : 1151354193
Option 4 ID : 1151354194
Status : Answered

Chosen Option :

1




Q88 which of the following is an earth-observation satellite to be launched jointly by

NASA and ISRO?
Ans 1.
2.
3.
W 4.
Question ID : 115135735
Option 1 ID : 1151352937
Option 2 ID : 1151352939
Option 3 ID : 1151352938
Option 4 ID : 1151352940
Status : Marked For Review
Chosen Option : 1
Q.89
Ans 1.
2.
3.
W 4.
Question ID : 115135732
Option 1 ID : 1151352928
Option 2 ID : 1151352927
Option 3 ID : 1151352926
Option 4 ID : 1151352925
Status : Not Answered
Chosen Option : --
Q.90
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135753
1151353012
1151353009
1151353010
1151353011
Not Answered




Q.91

Ans 1.
o 2.
3.
4.
Question ID : 1151351072
Option 1 ID : 1151354286
Option 2 ID : 1151354285
Option 3 ID : 1151354288
Option 4 ID : 1151354287
Status : Answered
Chosen Option : 2
Q.92
Ans 1.
o 2.
3.
4.
Question ID : 115135775
Option 1 ID : 1151353097
Option 2 ID : 1151353098
Option 3 ID : 1151353100
Option 4 ID : 1151353099
Status : Not Answered
Chosen Option : --
Q.93
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135734
1151352935
1151352933
1151352936
1151352934
Answered

2




Q.94

Ans 1. 28
2 33
311
4. 19
Question ID : 1151351066
Option 1 ID : 1151354263
Option 2 ID : 1151354264
Option 3 ID : 1151354262
Option 4 ID : 1151354261
Status : Not Answered
Chosen Option : --
Q.95
Ans 1.
o 2.
3.
4.
Question ID : 1151351067
Option 1 ID : 1151354268
Option 2 ID : 1151354266
Option 3 ID : 1151354267
Option 4 ID : 1151354265
Status : Answered
Chosen Option : 2
Q.96
Ans 1. 15
2. 20
3. 14
« 4 18
Question ID : 1151351299
Option 1 ID : 1151355196
Option 2 ID : 1151355194
Option 3 ID : 1151355195
Option 4 ID : 1151355193
Status : Answered
Chosen Option : 4




Q.97

Ans

4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option

115135738
1151352950
1151352951
1151352949
1151352952
Answered
14

Q.98

Ans

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351059
1 1151354233
: 1151354235
: 1151354236
: 1151354234
: Answered
4

Q.99

Ans

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 115135770

1151353077

: 1151353078

1151353079
1151353080
Answered

2




Q.100

Ans

Question ID :
Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option

1151351297
1151355187
: 1151355188
1151355186
: 1151355185
Answered
03

Q.101

Ans

& 1.

3.

42

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351319
: 1151355274
: 1151355276
: 1151355273
: 1151355275
: Answered

1

Q.102

Ans

Question ID

Option 2 ID

Option 4 ID

Chosen Option :

1 1151351317
Option 11D :

1151355266

1 1151355267
Option 31D :

1151355265

: 1151355268
Status :

Answered
2




Q.103

Ans

1.6
2. 4
3. 8
4.0

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351303
1151355211
1151355210
1151355212
1151355209
Answered

1

Q.104

Ans

Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135765

: 1151353060

1151353057
1151353058
1151353059
Answered

2

Q.105

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351074
1151354296
1151354295
1151354294
1151354293
Answered

3




Q.106
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135759
1151353036
1151353034
1151353033
1151353035
Not Answered

Q.107

Ans

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 115135780
1 1151353119
1 1151353117
1 1151353120
1 1151353118
: Answered
2

Q.108

Ans

Question ID
Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151351044
1 1151354173
1151354174
1151354175
1151354176
Answered
4




Q.109

If the median of a, E, 2—“, E, 24 is 6, then what is the value of a where a is natural number?
2 3'4 5
Ans 1. 11
o 2.
3.9
4. 12
Question ID : 1151351309
Option 1 ID : 1151355235
Option 2 ID : 1151355234
Option 3 ID : 1151355233
Option 4 ID : 1151355236
Status : Not Answered
Chosen Option : --
Q.110
Ans 1.
2.
3.
o 4.
Question ID : 115135756
Option 1 ID : 1151353021
Option 2 ID : 1151353022
Option 3 ID : 1151353024
Option 4 ID : 1151353023
Status : Answered
Chosen Option : 4
Q.11
Ans 1.
2.
" 3.
4.

Question ID : 115135750
Option 1 ID : 1151352999
Option 2 ID : 1151352997
Option 3 ID : 1151352998
Option 4 ID : 1151353000
Status : Answered
Chosen Option : 3




Q.112 1n a school there are 360, 520 and 280 students in classes 5, 6 and 7 respectively. Buses are to be hired to take these
students for a trip. Find the maximum number of students who can be accommeodated in each bus if each bus must take

same number of students, and each bus should have students from the same class.

Ans

2. 40

4. 50

Question ID : 1151351302
Option 1 ID : 1151355205
Option 2 ID : 1151355206
Option 3 ID : 1151355207
Option 4 ID : 1151355208
Status : Answered
Chosen Option : 2

Q.113 A man on a cliff observes a boat at an angle of depression of 30°, which is approaching the shore to a point exactly

beneath the observer, at a uniform speed. Ten minutes later, the angle of depression of the boat is found to be 60°.
Find the total time taken by the boat to reach the shore.

Ans g1
2.
3.
4.
Question ID : 1151351307
Option 1 ID : 1151355227
Option 2 ID : 1151355226
Option 3 ID : 1151355225
Option 4 ID : 1151355228
Status : Answered
Chosen Option : 1
Q.114
Ans 1.
2.
o 3.
4.

Question ID : 1151351058
Option 1 ID : 1151354231
Option 2 ID : 1151354232
Option 3 ID : 1151354230
Option 4 ID : 1151354229
Status : Answered
Chosen Option : 3




Q.115

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135760
1151353038
1151353037
1151353039
1151353040
Not Answered

Ans

1.

2.

Q.116 Whenk > 0, 1s subtracted from each of 11, 15, 20 and 30, the numbers so obtained in this order are in proportion.
What is the mean proportional between (2k + 2) and 3k2?

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

1151351304
1151355216

1 1151355214
Option 31D :

1151355213

: 1151355215
Status :
Chosen Option :

Answered
4

Q117

Ans

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 115135776

1151353102
1151353104
1151353103
1151353101
Answered

3




Q.118

Ans &1
2.
3.
4.
Question ID : 115135741
Option 1 ID : 1151352964
Option 2 ID : 1151352961
Option 3 ID : 1151352962
Option 4 ID : 1151352963
Status : Answered
Chosen Option : 1
Q.119
Ans 1.
2.
3.
4.
Question ID : 1151351046
Option 1 ID : 1151354184
Option 2 ID : 1151354182
Option 3 ID : 1151354181
Option 4 ID : 1151354183
Status : Answered
Chosen Option : 1
Q.120
Ans 1.
2.
" 3.
4.
Question ID : 1151351075
Option 1 ID : 1151354300
Option 2 ID : 1151354297
Option 3 ID : 1151354298
Option 4 ID : 1151354299
Status : Answered
Chosen Option : 3






